9/18 SWRMmERXZ= Z#&

rx|usl| IBBEKS =S SoE% =S i
1 X% EX
2 o H |4x100 57#63
3 WH FX mJL— H 21
4 HEgx T
6|8 %% EX|100m 1566
3 & , s 33m62cm
6 % E/% .u] 100m 15*)73 VD bR=ILES %)JTJE?—&
6|®|w@ F&|100m 14166 B Ao
68| FE IFtE[100m 14798 ENB Bk 3me3cm
13M90
6|®| B m|100m #1 fir 1B, amraom
Bo#Hscix (OO 48EH) —
VY V] = U R R— L 36m46cm
S % 33% EM/ iEmEEIl‘yE SmOOCm VD RIS %81ﬁ %)J}JE%
301052
6|s| # ¥ |1000m _ B2
BeFRR (W51 EH
KRC 6 FECirBH
- S0y S3mO3cm - 33mO03cm
6|B| P8 R| T\ | gow=m (35 cmzzn) |77 D
S = | o enones 35m60cm
58 Féi/%” 23 | Y7 hR-ugd %)J}%ﬁ
o 49535205
4|8l 6L BGxR|1000m ok
‘ 1688
4|B| BB P 100m| gos=sm (055 0B
=0 S0y 3mO6cm R 22m70cm
4|B| R B TR | gowes (04 omm) |77 D
4|ls| @i E=[100m 10832 B 3m18om
) 32m57cm
== =) ] \ R—JLRI wep
4B FB EXN|[100m 1669 VD MRS ks
4lslm@E  ®|100m 1%@'{51@9 1000m 39549829
4B SR HRE|100m 1774 1 ENSEk 2m77cm
4|18 Bl =R [1000m 473913
4 (8| B8 K3 | EISBk 3m0O3cm




1 B 2=
2 BN =S |4x100 1970048
3 =ARENIE mJbL— E1 I
4 hE 2P
1 WS KIE
2 B¥ FR [4x100 1950485
3 ERBdHDOD mJL— F 2
4 FER B
1 hE BB
2 YH B8B\= |[4x100 191002
3 RE & mJbL— 311
4 EZHEBKRHE
- 1646 =o
%UJEJ@’@O) 1 OOm ga%ﬁgaﬁi (O*w1 1 %%ﬁ) /:\EmEEEJE SmOS cm
B R |1100m 1624
3m33cm 42mT76cm
| MR B | ESEk =3y YD bRV B ¥Rk
= KRC 6 FactrE#
oD j Soy o s 29m84 cm
g 23% El& l:xEmEELDtJE Sm 8 O cm VD bR=)LES %—21ﬁ %)J}JEﬁ
- R 1510
Z| =ZARENFE [100m 1546
2| Mg BE [100m 1517 4 800m 2BASRST
2n56#M11
2| KB W (800mM| mosss (omo 785
2| B 6% |100m 12827 800m 2534427
A == S0y 2m37 cm
g $//$ Bﬁ?ﬁ 1 OOm 20*@\03 iEmEHEJE EB%ﬁ%ﬂﬁ (1 4Cm%%ﬁ)
. W oy 2m79cm
Q E;:F ‘&J\hl 1 OOm 1 8*@\85 l__\EmEEEJE %B%ﬁ%ﬂﬁ (37 Cm%%ﬁ)
- a5 oy 3m11cm
z| weEHE [ 100m 1%%20 Ik 3m30cm
| ZHBEXRE |100m 1822 800m 3D43MW56
Z|¥EH BHE|100m 1658 800m 301 2M82
| 2 =® [100m 1%227 800m 3508W7T 4
ZlRE MHE|[800m 3D30#M1 3
| sgmseEE |1 00m 1%?§2 800m 2551110
- T - 3m22cm




